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Tnpsc Aptitude & Mental Ability Model Questions Set 2
1. If pLanT is coded as qKboS then tReE is coded as

pLanT 6T68TLIG| qKboS 6T6sT GMILLILILLITL tReE 6T60TLIG| 6Teueumm)] GMOIUNL LL(RLD?

a. Uqgfd b. SQfD c. uQfbD d. uTfd

2. The salary of a person was reduced by 10%. By what percent should his

reduced salary be raised so as to bring it at par with his original salary?

@ HUfl6 2afHulld 10% GEOMESSLILULL 2aGlU 150G (LPSHEOIL eUMRIS LI
carflISHMEG FLOOME 2 WTSGHAUSDG 2aHwidHed 61hHment (P&HT(H

2 wWFHSLILL. Geuevor(hLd?

a. 11 g % b. 12% C. 103 % d. 12 g%

3. The area of field is the shape of trapezium measures 1440 m? . The
perpendicular distance between parallel sides is 24m. If the ration of parallel
sides is 5 : 3, then the length of longer parallel side is

@ &mie| BIM&ISSHeT LgLiLeTey 1440 LS? @ueor(y Qenemid CHT(HSHEG

QenL G 2 6o QFRIGHGH CHMLIq6m 2 Wiy 2418, Coeid @resorn Eemeuot
Campaeilstt aNHHLD 5 : 3 Tafled AUl QeneTICHTL1q.65T HeTLOMesIS)
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a. 45 m b. 60 m c. 75 m d. 120 m

4. The missing term of the following sequence is
&GLpwleren QHMLF euflemnguiled eN(RLLL 6TEHuI6uuTT6oIS)

4 5 7 40 104 229

5. 2/3, 65%, 4 out of 7 - of these three which is greatest? Which is the least?
2/3, 65%, 7-60 4 UMI@G @bepetdled 618 OSLCUTILIG? 618 D&EFHAMNGI?

a. 4 out of 7 is least 65% is greatest (7-60 4 LN&FEMGI 65% LOSLICLIFILIZ)
b. 4 out of 7 is least 2/3 greatest (7-60 4 LNGFHM&, 23 OSLCLIFILIG])

c. 65% is least 2/3 is greatest(65% LOGEFHMGI, 23 OSLCLIFILIG])

d. 2/3 is least 65% is greatest(2/3 LSFHMNEI, 65% LELIQUIFIWIZ)

6. What comes next?

K15 W, J 18 X, I 21 Y, ...
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SI(BHGH U(HEUF| 6T6oT681?

K15 W, J 18 X, | 21 Y, ...

a. H51Y b. H 51 X c. H24 Z d HS5 W

7. Suresh wants to invest Rs. 10,00 for 3 years. Scheme A offers 8% simple
interest per annum and a final 1% bonus on the amount invested. Scheme B
offers 8% per annum compounded annually. Which scheme is better? How much
amount will Suresh get at the end of 3 years if he unvests in the better
scheme?

&CIelo 10,00 CHUMMW 3 QUHLMAISNSES (WFHOH Q&FIW el@hLUSMT).
UL A UBLEEMS 8% HeoNell lg SOLEWNS (WHOHESG 1% Gumsiiav
SGBADG. HLLLD B 8% Gl @ allly, AGLSHING @@ (PO allg

ol LLUUGHDG. QreiiqeD 61§ HeLeL FILLLD? SihHG HELEL S L §&leL
WHS(H QFUIUSTEL 3 YAIHEHEHSHS N1 &GIee QUMD QAFHTENS 6T6dT60T?

a. Scheme A is better. Amount = Rs.12,500
b. Scheme A is better. Amount = Rs. 13,200
c. Scheme B is better. Amount = Rs. 12,597
d. Scheme B is better. Amount = Rs. 25,970
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8. The population of a village grows by r% every year. In 2 years the

population increases from 10000 to 11025. Then r is

@ HUMDGHH6H LD&SHETRSHTNS U 6I(h 6601M r% B FINH Falg.d
Qanen(h CFLEME. 2 HYEINGHHND &HSHETCHTeMS 10000 §EH60I(HHG 11025
8 NG GGG, 61631160 r 6T6UOUATE?

a. 5 b. 3.5 c. 2.5 d. 1.5

9. If 8%—4%+ % - 2.32= 5.33 then the value of x is
8=—4-+ = - 2.32= 533 eTexM6L x-631 LOSHLILIMES)
4 5 X

a. 40 b. 4 c. 5 d. 50

10. f a: b=5:9and b:c=4:7then a: b :cis
a. 36 : 20 : 63 b. 36 : 63 : 20

c. 20 : 36 : 63 d. 63 : 36 : 20
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11. If a certain sum at a certain rate of simple interest amounts to Rs. 3,810
in 3 years and Rs. 4,890 in 7 years, then the sum and rate of interest are

R CQFTmd Gevll QUL lqLilq €h. 3,810 & 3 QUL SHMVID €F. 4,890-8 7
QUL SSHID QI lqu|L 6T QHTHSHAME. 160 WLHMID QUL lg IFHLOMEIS)

a. (3,000, 3.5) b. (4,000, 9) c. (4,000, 45)  d. (3,000, 9)

12. Two men A and B can do a work alone in 8 days and 20 days
respectively. They did work together for 4 days. Find the remaining portion of
work to be completed?

A LDOMID B 6T60TM LO6NGTHET HeollHHeNGul ep(h CeusmELsmIL 8 HITL &6

MMID 20 BIL&6NEL (LPIQLILTTSET. @(heUBd CEFIHE 4 BT &6T Ceusmev

Q&g M6t (LPIgSHSLILL. Geuettngu! GCeusmsLUTNEST LITSHLD 6T63T60T6UTS

AMHEGLD?
7 3 10 10
a. — b. — c. — d —
10 10 7 3

13. If the capacity of cylindrical tank is 1848 m?® and diameter of its base is

14m then depth of the tank is
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R 2 (HemeT allgel QST Iquller Q&merTerare] 1848 m® LDOMID SIFH6oT 6UL_L

Slgliym& et ML LD 14 LS eT6l6d SihE QSHTLIqUN6T 2 WIFLOT6TTS)

a. 10m b. 12m c. 14m d. 16m

14. Mohammed sells a shirt costing Rs. 300 at 20% loss to Sachin. Salim

sells it at a profit of 10%. At what price did Salim sell the shirt?

(PSLOG| €h. 300 SIL&H&AIMEL CSHTEIL. FL6mL Ml 20% HeRL $HMGS
§60LAMG NMHMM). F60D Si6MG 10% OMUSHMGS NMMMEL, F6OLD 6T6oT60T

leneLEE FLEOL MW NMHMIMTI?

a. Rs. 264 b. Rs. 270 c. Rs. 280 d. Rs. 330

2)3

L (2
15. Simplify : \/((32)2

22°
32)?

&r@éa@aa.\/i

64
" 81

O | »
(@)
O | ©
Q.
wN

16. The least number when divided by 6, 7, 8 and 9 leaves the same

remainder 1 in each case is
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6, 7, 8 LDOMID 9 6L UGS G LI L& 1 eumHeID WGF Sl

6T6UUTCUDT 6T |

a. 3025 b. 1680 c. 840 d. 505

17. Area of trapezium is 960 cm?. The parallel sides are 40 cm and 60 am.

Find the distance between parallel sides

@(h &FHleusSHE6 LITLIL 960 cm? IG60T Q66w LIGSMmiGeT 40 Q&.L5 oHmID 60

Qg8 cT6fleL Qemewtl LISSMISEHSHE QEOLLILL L GTSHNGE SIT6Hu.

a. 18.2 cm b. 19.2 cm c. 204 cm d. 214 cm

18. 7 men can do a work in 52 days. In how many days can 13 men can

finish the same work?

7 YL &6ET (5 Geuemevemil 52 BHITL&aTl6L (IQLILIMTSH6T 6768760 HCH

GCeouemevemlLl 13 QYL &6 6T&HH6M6TT BTLSH6T6L (LPLGLILITTS6T?

a. 21 days b. 28 days c. 24 days d. 30 days
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19. If a cube which is painted white on top and red on other 5 sides is cut
into 27 identical small cubes, how many of the smaller cubes have just one

side painted red and other sides unpainted?

@b SH60 FHITLOMEE ¢@Cr LMHFIWITET 27 S6TFSHIRIGTS Hl6v(h
CuTLUUGHDGI. (PHOL QBHS SHeTEHITD GOLMLD CQEUSTEMETILITSG|LD
MM 5 USSMIGET SQUUUTSED eUI6IDd LLFLULLIq(hhSHS. Sl Hevt
FHITHRISEMNE 61&HH06E G 62(h LSS HULTSED OM LSSMISGET

QUITEUUTLD LLFLILIL MDEYILD @\(h&H@LD?

20. The length of building is 40 m and its breadth is 20m. a path of the width

1m is made all round the building outside. Find the area of the path

@M SLligL H&6T Herbd 40 I G 6T &L 20 S LIl Geng &M
QeueMufed 1 § IBLHHMEG LM HMLDSSLILIL g (HHSHTEL LITen&uest

UL 6T60T60T?

a. 144m? b. 134m? c. 124m? d. 104m?

21. When x= 25, the value of (5x% + 10x) =(x+2) is
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X= 25 6T6ofl6d (5x2 + 10x) +(x+2)-607 LO&ILILITETIS)

a. 125

b. 175 c. 225 d. 250
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